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AT AR ERE
ROUND3-G1
NEAZ 4 Hi BT & ¥4 TEC _ ATH Total
I[EER = (FRZ=)1D) 31 Hoh 16.38 17.02 23. 40
2 /i O (FHO 50 b~ U Nyt A 16.38 6.90 23. 28
3 |HEAEET (L) 38 T A— 16.38 6.84 23. 22
4 B e ON) 83 N—TF—1L 15.96 6.72 22. 68
5 |Hkm  [EER (AkifgiE) 36 IV Ry a Y 15.82 6.60 22. 42
6 |EMH KR ([ Lr) 84 Fxy X ¥7 s —H 27 —|15.68 6.60 22. 28
T [FEELL (T%8) 84 Fx# ¥ I/ —%>r 2 —|15.68 6.60 22. 28
8 |& Ui (%) 9 AR—8— U g 14.42 6.18 20. 60
ROUND3-G2
NEAE 4 Hi il ¥4 TEC _ ATH Total
1 |HFOED (#HE) 36 AV ay 17.22 7.14 24. 36
2 |t i (JTJ) 84 Fy ¥ I —H2—|16.80 6.96 23.76
3 [kE A ONY) 84 Fy XY I —Hr s —|16.52 7.02 23. 54
4 R (FRZ)1) 84 Fy ¥ I —Hr 2 —|15.82 6.60 22. 42
5 [CE iz UN=) 84 Fx# ¥ I —%rr—|15.54 6.42 21. 96
6 |t KA () 9 R— Y iy 14.84 6.24 21. 08
T [EEWR K (A0) 3B AV YR A 14.70 6.00 20. 70
8 |THPE AL (Z1%) 84 Fy XY I —Hrr—|14.42 6.12 20. 54
ROUND3-G3
NEAZ 4 Hi BT & ¥4 TEC __ ATH Total
1RO (KB 84 FxH ¥ I —%rr—|17.50 17.20 24. 70
2 |EAR Eh (FRZ)10) 83 SN—TF—L 16.80 17.02 23. 82
3 |4EBY Ak (Hi24) 76 A—rs8— 1) g 16.66 6.84 23. 50
4 M ALY (T%8) 31 Hoh 16.52 6.60 23. 12
5 (e ER (AR0) 31 Hh 16.10 6.48 22. 58
6 |fEHBEEA (FE) 83 N—TF—1L 15.68 6.60 22. 28
T PEE OR¥E () 38 YA 14.70 6.36 21. 06
8 [Hik  HiH () 81 7—F v 14.42 6.18 20. 60
ROUND3-G4
JEAE 4 Hi il ¥4 TEC  ATH Total
1| 5 (FRZ=)11) 83 N—TF—L 17.08 7.26 24. 34
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2 AR Hok (KBR) 84 Fx A ¥I7 7 —%27—[16.80 7.20 24. 00
3 |kl &7y (=) 83 N—T—1L 16.66 7.20 23. 86
4 fEA Bk (HA) 9 R—s— Y 2y 16.52 7.08 23. 60
5 [|IiHE  BEEA (%) 36 AVaTYIRYay 16.10 6.66 22.76
6 |EQ0 A (=) 31 Hehv 15.96 6.72 22. 68
T |1AHEVD (&) 31 Hoar 15.26 6.90 22. 16
8 | B (7 E) 36 AV ay 14.70 6.54 21. 24




